
CF MOTO 800 MT    2022--> SPEED

EDGE

C OD ICE  /  C OD E SILE NZ IAT OR E  / MUFFLE R  TUBO / PIP E

CF.001.LRB STEEL BLACK

CF.001.LRX INOX / ST. STEEL

AP PLICA Z IONI /  A PP LICAT IONS

INOX / ST. STEEL

Parti originali
Original parts

OPTIONAL PARTS
00.73.ACC.070

Carter in carbonio / Carbon fiber heatshield

3 x2

9  

5

10

2 x2

8 x2

4

7

1

6

# DESCRIPTION PART NUMBER QTY

1 Silenziatore / Muffler  dB Killer 50.DK.178.0 Speed Edge 350 1

2 Rondella di sicurezza / Safety washer 50.73.604.1 2

3 Vite M8 x 16 / Screw M8 x 16 50.73.098.1 2

4 Vite M8x20 / Screw M8x20 50.73.894.1 1

5 Rondella in alluminio nera / Black aluminium washer 50.73.221.1 1

6 Staffa / Bracket 50.SS.1344.0 1

7 Tubo di raccordo / Link pipe 9773CF001SRX 1

8 Dado rapido M5 / M5 cage nut 50.73.674.1 2

9 Tubo in gomma per molla / Rubber pipe for spring 50.73.210.1 1

10 Molla media / Mid-size spring 50.73.359.1 1

55
O

i

Parti originali
Original parts

TELAIO / FRAME


